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AP Calculus AB
Unit 3 - Day 6 — Assignment
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2. Consider the graph of f{x) to the right to determine which of the following statements is/are

true.
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I and Il only
B. Tand IT only
C. Il only
D. I, 1T and III

3. Let A7) =0, £(7) = 14,g(7)=1landg'(7) = L. Findh'(7) if h(x) = fﬁg
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4. The graph to the right shows data of a function, /(f), which shows the relationship between
temperature in °C (y-axis) and the time in hours (x-axis). What does the value of #'(6)

represent?

/ H'(6) represents the temperature after 6 hours measured 1%
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B. H'(6) represents the rate at which the temperature is ~ | ‘A‘/.m"‘ e, .

changing after 6 hours measured in °C. QD sl e, e v

/ﬁ{ H'(6)represents the temperature after 6 hours measuredso

# in °C per hour o

H'(6)represents the rate at which the temperature is =~ & .

changing after 6 hours measured in °C per hour. &—) *

5. The graph of A(x)=2+vx+4 +2is pictured below.
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What is the value of [#7(6)]'?
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6. Find ' 1fy=x

A. 2xe®
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B. xix+2e*

D. 2x+e*
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7. The function f'is pictured to the right. At which of the following ¥
values of x is fdefined and@nuous but not differentiabls. t
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Graph of f

The table below x f(x) J(x) g(x) g'(x) shows values of
differentiable 0 3 " 5 5 functions, f{x)
and g(x), and their derivatives
at selected 1 3 2 3 =3 values of x. Use
the table of 5 3 3 1 Y Value'srbe'low to
answer each of the questions

a. Approximate the value of £'(1.5)7 Explain why your answer is a good approximation of
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b. If B(x) = 4/ g(x) , what is the equation of the tangent line drawn to B(x) when x =17
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c. If 4(x)=x2m (s (x)), Whatisthe value of 4'(2)7 What does this result say about the
behavior of the graph of 4(x) when x =2? Give a reason for your answer.
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d. Find the value of [g”](?a)]'. Then, find the equation of the line normal to the graph of g '(x) at
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